STOICHIOMETRY WS KEY

	1-
	2 C2H6
	+
	7 O2
	
	4 CO2
	+
	6 H2O

	
	10. moles


	
	35 moles


	
	20. moles


	
	30. moles



	
	0.10 moles
	
	0.35 moles
	
	0.20 moles
	
	0.30 moles


	2-
	Mg3N2
	+
	6 H2O
	
	3 Mg(OH)2
	+
	2 NH3

	
	0.24 moles
	
	1.4 moles
	
	0.72 moles
	
	0.48 moles

	
	36 moles
	
	220 moles
	
	110 moles
	
	72 moles


3-
? Moles of SnO2 = (1 mole / 151 g) (68.6 g) = 0.454 moles SnO2

	Sn
	+
	O2
	
	SnO2

	0.454 moles
	
	0.454 moles
	
	0.454 moles



? g O2 = (32.0 g / mole) (0.454 moles) = 14.5 g O2


? g Sn = (119 g /mole) (0.454 moles) = 54.0 g Sn


Check:


Σ mass of reactants = Σ mass of products

54.0 g +14.5 g = 68.6 g

68.5 g = 68.6 g

Good!

4- The reaction needed 9.59 g of phosphorus and 0.937 g of hydrogen.

5- 12.7 g of sulphur were required to react with the zinc to produce 38.6 g of zinc sulphide.

6- 
Mass of Al = 17.3 g

Mass of Fe3O4 = 55.4 g

Mass of Al2O3 = 32.6 g

